GR 10 REVISION:  EQUATIONS
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ANSWERS:
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Questions

1 Solve the following equations and inequalities:

a F-2-2415

b Ze15<P-o2
¢ @b+1)b+8)=27
d

e

f

5 2
16 3w esh-12  GR+A)+3G M

2 Solve simultaneously: 2a =24 + 7hand 3a+ 5b =5

3 The formula for finding the volume, V, of material used to make a hollow sphere is
given by V=4n(R’ - ), where Ris the outer radius and r is the inner radius.
Make R the subject of the formula, giving the expression in its simplest form.

4 Solve for in the following equations:
a x*+3(2x-5)=x*-2(7+3x)

b

-
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5. Solve foraand b:
7(a+2)+3(b-5)
and 3(a+2)-2(b-5
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Lm>12 ‘we are dividing by a negative number.
(@2b+1)(b+8)=27 Step 1: remove brackets
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201 +17b-19=0 Factorise when a quadratic equation is = 0.
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